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LOGARITHME NEPERIEN

EXERCICES 1A

Déterminer les dérivées des fonctions suivantes, dérivables sur I :

a  f()=2inx-x =l b 1(x)=Inx = ]0s+er]
c. f(x)=xInx—x 1=]0;+od] d f(x)zlnTx =105+
e. f(x)= ;Tn"x‘_ll 1=]2iof | F f(x)=+Inx = [L+oo]
o (0=(nx) P b f=in@e2) 1= e
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Déterminer les dérivées des fonctions suivantes, dérivables sur I :

a. f (x)=2Inx—x I =]0;+0oq b. f(x):lenx 1 =10;+0oq
f'(X)=2><§—l f'(x):2xlnx+x2x;
f.(x)zﬂ f'(x)=2xInx+x
X f(x)=x(2Inx+1)
c. f(x)=xInx—x 1 =10;+0q] d. f(x)zln_x 1=10;+o]
f'(X):lxlnX+Xx§—1 1 O L
f'(x)=Inx+1-1 f'(x):X—2
f'(x)=Inx
( ) f,(X):l—xlznx
Inx-1 . x)=+/Inx =[1;4
& F0)= et ! f e JT e
1>< 2Inx-1)—(Inx— ><2><1 (X)) = X
f,(X):X( (21|) (1)21) . P ==
nx-— gy 1
f,(X):(2Inx—1)—(|nx—1)><2 : (X)_Zx\/m
x(2|nx—1)2
Filix =2Inx—1—2|nx+2
x(2|nx—1)2
(x) = 1
A x(2|nx—1)2
g- f(x):(lnx)2 1 =]0;+o0 h. f(x)=In(3x-2) I= E;H{
f'(x):2><lnx><§ (x) = 3
f,(X):Zl)r(lx 3x-2




